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ample.(30%)

find out how much you know about basic

f syntax?
the sounds that form words.
sentence formation.
word formation.
ajority of English nouns have added to them?
(D)un-
a noun?
(C)He has no...
1ong other features). What feature(s)can nouns in

C)number and case  (D)number and person
st all English verbs have added to them?

6.

Identify the'sentence showing a verb in the third person plural in the present tense:

%10

1.

10.

(A)You eatthem  (B)leatcake  (C)Theyeatthem  (D)They eat cake
What type of word is best classified using semantic features?
(A)noun (B)verb (C)determiner (D)preposition
Which best describes the English language?
(A) English has complex morphology and less rigid syntax.
(B) English has less complex morphology but more rigid syntax.
(C) English has complex morphology and rigid syntax.
Which sentence describes inflectional morphology?
(A) Adding a morpheme to produce a new word but the same lexeme.
(B) Adding a morpheme to produce a new word and different lexeme.
(C) Adding a morpheme to produce the same word but different lexeme.
How many different lexemes are there in following list? man, men, girls, girl, mouse
(A)1 (B)2 (©)3 (D)4

III. The following are multiple-choice questions. Mark your answer by writing A,B,C,

or D on your answer sheet.(20%)

All experts agree that the most impairment consideration with diet drugs is carefully-

the risks and benefits.
A. weighing  B. valuing C. evaluating D. distinguishing

another big issue—the new republic is the problem of the education of its citizens.
A. confining  B. confirming C. conforming D. confronting

The most —technological success in the twentieth century is probably the computer

revolution.
A. prominent B. prosperous C. Solemn D. prevalent

The younger person’s attraction to stereos cannot be explained only—familiarity

with technology.
A.bymeans of B.interms C. in quest D. by virtue of

Some children display an—curiosity about every new thing they encounter.
A. incredible B. infectious C. incompatible D. inaccessible
Recently a world plan to attack illiteracy has been—by a committee of UNESCO
expert, and an international conference on the subject has also been held.
A.outofhand B.outoforder C. outofplace D. out of way
We started burning some leaves in our yard, but the fire got—and had to call the fire
brigade to put it out.
A.outofhand  B. out of order

C.outof place  D. out of way




1d—the opinion of the majorlty.
). in
sis, taking 10% of everything he sells.
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C. salary D. pension
king intentional and home markets, many firms

. bankrupted D. decreased

e experiences, between the average student who
ident who does not, are so—to the college-going
ch college owes it to himself to do so’

C. convenient D. compulsory

ng, dance and play several kinds of musical

dphisticated D. productive
s knocked down by a minibus and received—

1strous D. exaggerated
1e must either present legal documents or call a

1fy D. testify
ntain verbal—through which the writer achieves

exaggeration D. banter
> smoking clearly outweigh all other factors,
1 cause Of death.

C. connecting with D. relevant to
discU8Sinn while others profiteer to guide the

. enhancing D. disposing

1ay cone next, the reader can decide whether he
¢ to make sure what is being read is understood .
‘ecede D. predict

rks—a word scale approached the great figure of

or
3 questions.(35%)

1. TG is rule based grammar. The rules of TG are rewrite rules. That is to say, they rewrite one symbol
as another-or.as several others or one set of symbols by another until eventually the sentences of the
language are generated. The rules start with symbols ‘S’ (sentence) and then a sequence of rules rewrite
this symbol until a sentence is produced. Thus A—BC means rewrite A as BC. Please give a simple set
of rules if we wish to
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generate a sentence like “A man read the book™.(10%)
2. Analyze the implicature in the following in terms of Grice’s Cooperative Principle.(10%)
A: Tehran’s in Turkey, isn’t it, teacher?
B: And London’s in Armenia, [ suppose.
3. What is IC analysis? Demonstrate the advantage of IC analysis by sorting the
relationship found in the following sentences which are composed of the same words but
which are different in word order(15%)
1. The boy played marbles on his knees.
2. The boy on his knees played marbles.
3. On his knees the boy played marbles.

V .Literature(45%)
1. Explain the following literary terms with one example.
2) climax
3) elegy
4) parody
5) realistic drama
6) foot

2. Give short explanations

1) Henry James and the characteristics of his fiction.

2) Shelley and his poem “Ode to the West Wind”.

3) Henry Fielding and his contribution to modern novel.

4) Swift’s writings and their rypical feature

5) D. H. Lawrence and his novel’s major concern
3. What makes Mark Twain’s The Adventures of Huckleberry Finn more than a child’s
adventure story? Briefly discuss the question from THREE of the following aspects: the
setting , the language, the character(s), the theme and the style.







